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1. a) Draw the Lewis Structure with resonance structures for Selenium Trioxide, SeO;.
Indicate the value for the formal charge on each atom.
b) Draw the Geometrical Structure for the compound SIs™,

2. a) Using the following bond dissociation energies calculate AH for the combustion of 2.0
moles of ethane. Be sure to write the balanced equation, and show all your work.
D(C-H) = 414 kJ/mol
D(C-C) = 347 kJ/mol
D(0=0) = 498 kJ/mol
D(C=0) = 799 kJ/mol A
D(0O-H) = 464 kJ/mol
b) Predict the A H for the combustion of 2.0 moles of ethanol will be more or less than the

AH for the combustion of 2.0 moles of ethane.

3. a) Name the type of hybrid valence orbitals and draw an orbital diagram for the hybrid
orbitals for all the center atom in the following Lewis Structure of the acetone and C10,™.

b) Draw the molecular orbital energy level diagram of CO molecule.

4. a) Using the acetic acid and sodium acetate to prepare a buffer solution of pH 4.8. The
acidity of acetic acid, K,, is 1.8 x 107>,
b) Write the equilibrium chemical reaction of ethanol with K,Cr,0; in acidic solution.

5. a) Identify the changes in processes indicated in the following phase diagram.
b) Define and explain the points indicated by a circle in the diagram




